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A s8)I=8 sENE=

M =o)|2P3 U MRSl 84
ool SEXE JIs2s U solss (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 400,000 0 400,000
CH 200,000
== 200,000
01 ML ESFSHI 400,000 0 400,000
Osttg &Y 22 - MEgdH &4 400,000
CH 200,000
& 200,000
s8R sEXT JIBXE(E) 1,000,000 618,000 382,000
[ 500,000
= 500,000
401 AlEHIZ SO 1,000,000 618,000 382,000
= 500,000
=S 500,000
01 Al&H| 1,000,000 618,000 382,000
OsEXTo|gtxd 1,000,000
= 500,000
[ 500,000
s8JI2¥ sEXE JIB RS (AZAHE) 7,500,000 7,000,000 500,000
[ 7,500,000
403 AXIEHHSAH=0l 7,500,000 7,000,000 500,000
= 7,500,000
01 MXISHHA =2 7,500,000 7,000,000 500,000
OsEXNDIIEEHE (A2 HE-TS) 7,500,000
= 7,500,000
SEXNEI|BESE X2 (Z)(HEAY) 100,000 0 100,000
405 AtatE = 100,000 0 100,000
01 TR =S FSHI 100,000 0 100,000
OsEXilgtxd ZHIXEH 100,000
sSEXNDIIBESE ZHIXR (AZ)(HEALY) 1,100,000 1,200,000 100,000
403 AXIEHHSAH=0l 1,100,000 1,200,000 100,000
01 AR A =2 £ 1,100,000 1,200,000 100,000
sSEXNDIBEE FHIXIZ(AIZ) 1,100,000
s2JI=dE Wetgs ASE 29 N(AZX=2) 160,000 160,000 0
= 160,000
403 TR SHMSAH=01H 160,000 160,000 0
= 160,000
01 AXIHHA=2 2 160,000 160,000 0
OltstgdsasSANERE 2 160,000
= 160,000
g0l st |4 1,450,500 1,503,500 53,000
201 er2 3| 30,000 8,000 22,000
01 AtR2t2|HI 18,000 8,000 10,000
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2 s8Isd sEXER
ZE: SeD|sE3 U MRSl S4
o9l WBY DEX OF SENE MD|E 23 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 219,000 195,900 23,100
01 XN BELES 219,000 195,900 23,100
Ozl1SE WSS it Jis2s 84,000
OZLD| Ml FdZ Iz N =& AIHA
& 30,000
OSXHMNE ELMEHM JI=XE FTA
& 105,000
403 X SHHMSAH=01H 1,705,550 1,770,600 65,050
01 AXISHHA =22 & 1,705,550 1,770,600 65,080
Ozl1SE WSS it Jis2s 701,600
OLAOIEE =ats LA D=3t J1=X
& A 376,450
OLSH 2AMBII= D=3 JI=XE A
& 80,000
OFL} UM Ils D=3t JI=XE At 220,000
O0l&DI4 ThS EIISTt HILT 22 Il
A2 SUAL 39,000
O8)| <8R SUEL H2dd 22Xl
IIENE ETAY 45,000
OAIE DX Ol &2t ADIE & Hof
XA SMA 60,000
Odettl LU 2o FUA 49,500
OANEZUHE 22N 2 AIBE X
8 JleXd UMY 39,000
OICT 858 RN JI=sXd SETA 35,000
Ol s ¥ 1= Ilof ds2e| JI=Al
o FUAL 30,000
O0l&JI= Hs 2&d t==THHH JI=XI2
ZAA 30,000
OIS HAFLUES JeE2 80,000 80,000
403 AXIEHHSAH=201H 80,000 80,000
01 XISHH A =2 80,000 80,000
OIS A7AES Jle2s AEA 80,000
AMESY HAEHE WsE x4 103,000 0 103,000
= 103,000
403 AXIEHHSA=201E 103,000 0 103,000
= 103,000
01 A= 2L 103,000 0 103,000
OANIE=sY HIAEHE nsd xd 103,000
= 103,000
A0ESY HIAEHE D& 50,000 50,000 0
= 50,000
403 AXIEHHS X201 50,000 50,000 0
= 50,000
01 A= 2L 50,000 50,000 0




2 s8Isd sEXER
M =o)|2P3 U MesYol 84
o9l WBY DEX OF SENE MD|E 23 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OADIE=Y HAEHE DEsHAIR) 50,000
= 50,000
CIOIE! Jlgt MMRE 25 100,000 100,000 0
= 100,000
403 AXIEHMSA=Z0l1d 100,000 100,000 0
= 100,000
01 AXISHHA=2 2L 100,000 100,000 0
OOIOIE JIgr daRH B5(Al2) 100,000
= 100,000
NAgeEs &= IR (ANZA2) (M EAY) 2,400,000 2,400,000 0
403 AXIEHMSAH=0IH 2,400,000 2,400,000
01 AXISHHA=2 2L 2,400,000 2,400,000
OXNSgeaa=z)|gxy 2,400,000
FENd= & 53 AE 51,500 30,000 21,500
308 AXIMSOIA 30,000 30,000 0
01 HAHHBAEES 30,000 30,000 0
"E0d= da=sg A& 30,000
403 AXIEHHSAH=201H 21,500 21,500
01 XM A =2 E 21,500 21,500
ORE0ILS (M) ESHIZT MAD|EE 75
=X SXA 21,500
SiE SEISHY Hdd gy JleEs 543,984 562,984 29,000
308 XXM SOl 231,000 0 231,000
01 XN B2 LS 231,000 0 231,000
OMEA F4E 25 JIslld FUAY 150,000
OEHIR=E gaf 2= ElH] d&t Jl=X2
ZAA 30,000
ONY|R=5 et 2t HY| ik =X
=LA 21,000
2 HI0I2X Jl=AE FAL 30,000
403 MR HHMSAHE01H 312,984 552,984 240,000
01 AXISHHA 22 % 312,984 562,984 240,000
Ootd=itEs S Jl= A 312,984
TAME SR A 56,000 12,400 43,600
Il 28,000
= 28,000
101 e124d| 24,300 12,400 11,900
7l 12,150
S 12,180
M ORIMZZ2NSE S 24,300 12,400 11,900
OxAE SEZA 2 24,300
Jl 12,150
== 12,180




2 s8Isd sEXER
M =o)|2P3 U MesYol 84
o9l WBY DEX OF SENE MD|E 23 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 17,700 0 17,700
Jl 8,850
== 8,850
01 At2teltl 12,700 0 12,700
OZX Al S&ae| g 12,700
) 6,350
& 6,350
03 A2 HHI 5,000 0 5,000
OZXAtg S22 A2 5,000
7l 2,500
= 2,500
202 04l 13,000 0 13,000
Jl 6,500
[ 6,500
01 =LHOHI 13,000 0 13,000
OZXAtz g ot S K& 13,000
) 6,500
= 6,500
301 22N = 1,000 0 1,000
2l 500
= 500
11 dALEEIXIRE S 1,000 0 1,000
OXAte SEa22| A2 1,000
Jl 500
== 500
=E5Y 2ds Jls=XE 10,600 10,600
201 er23| 5,300 5,300
01 AtR2t2|HI 5,300 5,300
O=s84st 289 5,300
202 04| 5,300 5,300
01 =LHOLI 5,300 5,300
Os£gdst 847 =4 5,300
g ANEASAIE X 153,000 0 153,000
= 153,000
403 AXIEHMSAH=201H 153,000 0 153,000
= 153,000
01 AXISHHA 22 % 153,000 0 153,000
OZg & 32041 & ADE AISAIE XIE 163,000
= 153,000
ol tHE J=XI& 723,550 681,550 42,000
201 Ler23| 5,950 5,950 0
01 At2teltl 5,950 5,950 0




2 s8Isd sEXER
ZE: SeD|sE3 U MRSl S4
Ciel: DEH DED OF SRA42 MADlZ 23 (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMatitis Jl=X& 5,950
308 AXIMSOIA 390,000 375,000 15,000
01 XN BSELES 390,000 375,000 15,000
Os%E dolils =2 JIsAlg 105,000
Os&= Holls =& YHdl Xa 201,000
OstétE otd Y PLS S Ead 39,000
OsX= dolils J2 &38M =i 30,000
O=2olis o & dZS et D2 Mol
Il=Xd STAY 15,000
403 AXIEHMSAH=Z01d 327,600 300,600 27,000
01 MHXIHHA 222 327,600 300,600 27,000
OMaits JeAld 252,600
OdiOINEE OrdxS= Tloioile Jl=X&
Z= XA 75,000
stad HAEAsIH HHES DX 78,000 90,000 212,000
308 AXIHSOIA 78,000 90,000 A12,000
01 XN BSELES 78,000 90,000 212,000
Olt=3tad HASIH HHAS J=X&d 57,000
Olt=-3taY HIRASIH THATH DH J|BhE
o 21,000
2R Bt 8d 2 428A X 144,000 144,000
308 XXM SOIA 144,000 144,000
01 AXHNBEES 144,000 144,000
O=E2h Bk 1y 2 d=23A N3 144,000
BASH =224 JIEEU(AZ) 100,000 500,000 A400,000
= 100,000
403 THXI M SAH=01H 100,000 500,000 A400,000
= 100,000
01 MXIHHA 22 100,000 500,000 A400,000
OAZE II=EREA JIBEH 100,000
= 100,000
s)|=¥ SEEAY 29 N3(%E) 26,000 104,000 78,000
= 6,500
== 19,500
201 ger=3| 6,000 36,000 30,000
= 1,500
= 4,500
01 At22t2l] 6,000 36,000 230,000
Oltstg=ssdisla Lek2a| 6,000
= 1,500
= 4,500
202 04l 20,000 64,000 244,000
= 5,000

10 -




2 s8Isd sEXER
I slsEs % dEsYY |4
ol ZBA DEX N =HAS MADE 23 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 15,000
01 2L AL 20,000 64,000 44,000
Osg=ssdI=Xa 20,000
= 5,000
= 15,000
slsdH SE4Y 29 XJ(A2) 133,300 113,800 19,500
= 133,300
308 AtXIEHMSOIE 133,300 113,800 19,500
= 133,300
01 XN B2 LS 133,300 113,800 19,500
Olt==tetd =) =22 ZHIXA 9,000
= 9,000
O Nt 29 4,500
= 4,500
Osegzddd 29 99,800
= 99,800
OzlgdsM2Ac|d 2Y 20,000
= 20,000
stte HEAM 2(A2) 250,000 500,000 A250,000
= 250,000
403 XM SAH=01H 250,000 500,000 250,000
= 250,000
01 HXIHHA 22X 250,000 500,000 250,000
OsttE HEAA 3= 250,000
= 250,000
SEE gols gl XA (A2) 2,224,435 1,176,000 1,048,435
= 2,224,435
308 XXM SOl 2,224,435 1,176,000 1,048,435
= 2,224,435
01 AXEH B EES 2,224,435 1,176,000 1,048,435
Os#=E dolils bl X 2,224,435
= 0,204,435
SAHE gois dea 2N (5) 16,000 16,000 0
= 4,800
= 11,200
201 2= 16,000 16,000 0
= 4,800
= 11,200
01 At22t2lt] 8,550 8,550 0
Ogalis tZ & LEI2X M 2SN 8,550
= 2,565
== 5,985
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M s@l|=d sEN3=
M s)|=2=2 ¥ dEsgo 84
o9l WBY DEX OF SENE MD|E 23 (crol: m2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
02 2224l 3,000 3,000 0
Ogdis LMIBR L& 3,000
= 900
= 2,100
03 A2 G| 4,450 4,450 0
Odolls tlE ¥ =AM dA2H 4,450
= 1,335
& 3,115
s&E Yolls dHa 2EXAA(AIZ) 87,600 87,600 0
= 87,600
308 AXISHMSOIA 87,600 87,600 0
= 87,600
01 IXSHHBLAERS 87,600 87,600 0
OdollE HEE & 2 87,600
= 87,600
sHRSYHES 2EX 22 (A2) 22,230 22,230 0
= 22,230
308 AXISHMSO0IA 22,230 22,230 0
= 22,230
01 IXSHHBLEERS 22,230 22,230 0
Ogdis 222 2Z K& 22,230
= 22,230
sEZ2 Yolls 2N 29(5) 70,500 70,500 0
= 35,250
= 35,250
101 2124 d| 48,516 45,650 2,866
= 24,258
= 24,258
M IIZINZ2Z2 NS Es 48,516 45,650 2,866
s&= doll: B 249 48,516
= 24,258
& 24,258
201 L2 AY| 11,984 10,850 1,134
= 5,992
T 5,992
01 AtR2telt] 11,984 10,850 1,134
O=s%&z2 dollE HEYHME 28 2 s 2
o 11,984
= 5,99
= 5,992
206 =4l 10,000 14,000 24,000
= 5,000
& 5,000




2 s8Isd sEXER
ZE: SeD|sE3 U MRSl S4
o9l WBY DEX OF SENE MD|E 23 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 10,000 14,000 24,000
OsX2 dolils HZXl 10,000
= 5,000
< 5,000
SEE gois dZeug 2 (A2) 364,250 364,250 0
= 364,250
308 XXM SOIA 364,250 364,250 0
= 364,250
01 AXEHBSEES 364,250 364,250 0
OsXeE dois ozegn-d 29 364,250
= 364,250
WSHAE SHRUM EABHS(E) 2,500,000 1,250,000 1,250,000
= 2,000,000
= 500,000
301 22N 2,500,000 1,250,000 1,250,000
= 2,000,000
= 500,000
14 JIEt2 =3 2,500,000 1,250,000 1,250,000
Olt=3tatd HEsIt &d24= 2,500,000
= 2,000,000
== 500,000
Dty SHEM ANEHE SA2A3(5) 1,250,000 625,000 625,000
= 1,000,000
= 250,000
301 Eet2 NS 1,250,000 625,000 625,000
= 1,000,000
= 250,000
14 JIEt2 8= 1,250,000 625,000 625,000
Olt=3tatd ANHASIH £424= 1,250,000
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< 2,500
03 A= 29,000 16,000 13,000
OAsQ EslIR)Nzn=s 2 29,000
= 14,500
= 14,500
301 EtE NS 4,000 2,000 2,000
= 2,000
== 2,000
11 dAMEBIXIE S 4,000 2,000 2,000
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